EARAROBEEIERT — 2 N— IBISH —F

201559827 (H) 13m@{£E2H

BLNc2-3o0m c2 v5%3mE [l m | ewml — | # (6 oo
[AE£] 1% :110,000"  23%&:2500M”  33%&:10,000 M  43%&:6,000 3 ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< e N WO . - 8| — ARBEK (58)
N Y ERSD "SR i B 1 (f:) -
R:2g—Yrsa-x B:FTUILENL hig &
o == BERD . = . = KEFFX (E8)
olglg| *1¥ams54Y ) oy N Yl | Eema
Ri*xfavRk—5— B:x4>ayI)—-X Skt e
Sy . FHAFIK — - =SHEE (E8)
1 > Ky Ty R 3 560 5(53')4 o %4 ° 5?; MEEE= -
R:Td—T4FAF—-IY%> BAIHLIT5v— BKT =L
< e = . REE— - — ABR®YE (ER)
A 2SS ®o | 28 Fe | s e -
R:v¥/ by THY B:F+—TE—% =gte ]
N N . MR . - . — IAZEA (1£8)
51| T b1 F> i3 54.0 5(63)5 6 s 8 ‘2;3 A .
A:Star Witness £ :Intuit Widden Stud Austr
S 5 TaE . - . - AB®Y (58)
6155 oL THY RN - Vi o I T B
R:x421=T7—Z B:T7—-hREIF KIS
S )Y > 3 | HFH 56.9 7-7 37.6| — 7 478 | BE—K (ER)
7077 VRAHIUN 77 s6.0 (1 1/2) (o) | ELER .
RT-NTAYLF— BAOF4AUF b AR
N &K TER - = Z/EEAN (ER)
sl er2o9.—72 ik B N 7
RiN—V954 B:1FAT49 IR HEEARS
@ 1—F—@&BIEf
13—7—
23— —
G§a=7r= 6,8,5,1,4,2,7,3
41—+ — 6,8,4,2,5,1,7,3
[ RN
B OB 6 170M 714K 6-8 1704 B E 6-8 300/ &R 2-6-8 530M
7 B 6 110 2-6 20| | & & 6-8 360/ | | SEE 6-8-2 1,150/
8 160M 2-8 440M
2 130M

ABICOVWTRDTEEERROODE. TR LIV,




